GENERAL SCIENCE - SKELETON SYSTEM

1. What is the total number of bones
in the skeleton of an average adult
human? /

Teh 3Tl TaEh HoJST o eheblel
A g3l S ot AT fohctalr
BT g7

(a) 350

(b) 206

(c) 115

(d) 540

RRB J.E. 2014 (14.12.2014 Red Paper)
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3. Approximately, how many bones are
there in a child's body at the time of

birth? / Sled o THY I o R H
SIS fohd=iT gsf3aT I &8 2

(a) 200 Bones
(b) 300 Bones
(c) 275 Bones
(d) 250 Bones
RRB NTPC 30.01.2021 (Shift-Il) Stage Ist

RRB NTPC 02.04.2016 (Shift-11) Stage I°t
RRB NTPC 16.04.2016 (Shift-I) Stage I°t

4. Which one of the following statement is

NOT correct? / Tafaf@a A sl ar
YT HET e 67

(a) The stapes in the middle ear is the
smallest bone of the human skeleton. /

ALY el H FlSlg T AT HehTel hl
S BT gsar g |

(b) Appendix is a vestigial organ present in
the human body. /aﬁ%w:maa’ R H
Al Teh 3TAS 37T 5 |

(c) Bone marrow produces red blood cells
in the human body. / 37T&Y HAwolT AT
QR # TITel TocT I FRIShT3iT T TAHToT
FXATE|

(d) The human vertebral column has 33
vertebrae. / ATIT S ATH T H 33

FATHEd gl
RRB NTPC 15.03.2021 (Shift-1l) Stage Ist

5. In humans, the tissue that connects the
muscles to bones is called: / Hﬂ'@’fﬁ,

HATHUTRIAT 1 g5iSaT & SIS arel Scdeh
1 gl ST o

(a) Tendon / &hUSIT

(b) Fiber / deqd

(c) Axon/ TFgIT

(d) Femur / IR
RRB J.E. (14.12.2014, Green paper)

6. A tendon made of:/ Teh ¢3o1 & &
EFIT%:

(a) Collagen fiber only/ Shdel Fletolel
BISeY

(b) Elastic connective tissue fibers/
AER ISl Fde Brss

(c) Inelastic connective tissue fibers/
3RS TS Fcfeh A
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(d) Elastic & inelastic connective tissue

fibers / ATEER 3R 3HLTeT TSI FcTeh

EAECES
RRB ALP & Tec. (31-08-18 Shift-Il)

7. Which acid causes pain in our muscles?
/ et T 3T gART ATEURIAT 7 && hr
ROT FeTcll &7

(a) Lactic acid / ifFeca Tids

(b) Sulphuric acid /W‘Eﬁ's'

(c) Hydrochloric acid/@@%ﬂﬁ?ﬂﬁg
(d) Acetic acid/Tf&Tes vias

RRB J.E. 2014 (14.12.2014 Set-2, Red
Paper)

8.The ......... has abundant white
fibres./ ......... # I AT H T, 1 B

gl

(a) Ligaments / QFI'I'{I"Q’?JFT
(b) Tendons / ShUsSIT

(c) Cartilages / 39TTEY
(d) Bones / BS%'JUF

RRB ALP & Tec. (20-08-18 Shift-l)

9. In human body, vertebrae is part of: /

HATAT QIR H HRATHT [hHehT AT
(a) Intestine/ 37T

(b) Liver / Il

(c) Spinal cord / A¥CS

(d) Brain / #ATEdSH

RRB NTPC Stage It 27.04.2016 (Shift-11)

cervical spine/ AT g (C1-C7),
thoracic spine/ d8T {¢ (T1-T12),
lumbar spine / m@re?zé’r (L1-L5),
sacral spine/ IEC RS (51-S5)/
coccygeal / 3R

anterior view right lateral view posterior view

5. ——Atlas (C1) S Atlas (C1)—=" =
e ) :'-'_;‘ Axis (C2) ,;{\-'z—‘ Axis (C2) T
vertebrae s %" ,.JA: s
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o~ —
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e T - \ T

o B > 5y

oy SRy

=K A

=° o |
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vertebrae *,sjr A :

1-T12 a2, ’

(T ) y 7 /:P: a

o et

g5 =

T —=—Ti2 o8 T12 >

L = - \
lumbar 2 ,E, g o
vertebrae & _7' iy 2
S 5

— =Ry A:? L5 ———

a} I é sacrum é sacrum
p— (S1-S5) .:( (S1-89) 3
- coceyx ‘{\ coceyx =

10. Which is the longest bone in the
human body? / ATAT SRR T TaH &

g T W E?

(a) Patella /9ceT

(b) Sternum/ 31T &
(c) Tibia / feferar

(d) Femur /TR
RRB NTPC 21.01.2021 (Shift-Il) Stage Ist

THIGH (FEMUR)

*PATELLAJ

=7, LEG(TIBIA AND FIBULA}—|

ki 3
)

FOOT (TARSUS, 7!?

METATARSALS, T

AND PHALANGES) ] ﬁ(
eyl

I §

‘ 7]

LOWER LIMB

11. Select the wrong pair of bone and
related part of the human body from the

given alternatives./ [T a0 Aheai H &
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ITTd ST g2 3 AT R & e 14. Which is the smallest bone of human

$T9T T TFeT | body?/ ATeTd 2RI T TTH BIET g3 el
(a) Maxilla - Jaw / HTFHe - STaaT drge

(b) Patella bone - Leg / I¢elT §33T - X (a) Hip bone / fgq siteT

(c) Carpal bone - Neck/aa‘lﬁ?vrg‘sig"r - ICeT (c) Stirrup / €T

(d) Ulna bone - Hand / 3c=1T §33T - T (b) Rib / T&IT

RRB NTPC 23.07.2021 (Shift-Il) Stage Ist (d) Fore arm / 31dIdllg

Pl
RRB JE 02.06.2019 (Shift-I)
12. Which part of the muscular system

attaches bone to bone? / 9T aF T 15. There are 29 bones in the human
head. Which of the following

ohleT HT HTT g1l g331 A AT 82 .

don / s s e classifications is correct? /H@W%ﬁ?ﬁ
a) Tendon / &hUSIT R - R . i
Eb)) lage / 3ATTEY e t! A

Cartilage
¢ y v a1 geffertoT Tgr 82
(c) Muscle / ATGUTAAT .
. (a) Forehead/TeITe-8, Facial/JgY-14,

(d) Ligament /felam#He

Ear/ehUT -4, Hyoid/ ShidaT -3
(b) Forehead/oTelTe-8, Facial/dgY-14,
Ear/&0T -6, Hyoid/ ShfdehT -1
(c) Forehead/<TelTe-8, Facial/d8Y-12,
Ear/&0T -6, Hyoid/ Shi&ehT -3
(d) Forehead/oTolTe-8, Facial/Jgl-12,

Ear/&0T -8, Hyoid/ shf&ehT -1
RRB NTPC 03.04.2021 (Shift-1) Stage Ist

Lateral view

RRB NTPC 25.01.2021 (Shift-1) Stage Ist

parietal bone coronal suture

sphenoid bone
greater wing

pone

ethmoid bone
orbital plate ethmoid

A bone
13. Which is the smallest bone of the nasal bone orbital plat
middle nas
lacrimal concha
human body?/ AT SRR I G4 BIET bone
lat
Eigél |)i5| '\l:h'%'? zygomatic Pt
= ' bone inferior —
M ; nasal
(a) Humerus / Q?T%EFI' occipital bone n:ri:rlilr:? concha
temporal bone .nasal seine vomer—
(b) Femur / tﬁm Ifr:rf;:-:tal .
mandible ram
(c) Malleus/&ferad artomal—/ T -
meatus coronoid
(d) Stapes /&g igesee

RRB NTPC 08.03.2021 (Shift-I) St Ist
(Shift-1) Stage Is 16. Which part of the human body is

formed by the fusing of the ilium, ischium
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and the pubis?/WQlﬂTaﬂaﬁﬁﬂT
11 ST, sTEaaA IR gfaa &
Ao @ Sl g7

(a) Jaw / STSIST

(b) Hip bone / 89 et

(c) Cranium / sh4Tel

(d) Feet / OTa
RRB NTPC 22.01.2021 (Shift-I) Stage Ist

17. What are the bones around the chest

called? / BT & 3THI Hr gsfegi anr
FIT hgd g?

(a) Frontal / eTellc

(b) Femur /HIHAT

(c) Ribs/ TgaferaT

(d) Ankle / TddT

RRB NTPC 05.04.2016 (Shift-1l) Stage I°t

18. What is the lubricating fluid found
between the two bones at a movable joint

called? / &Y g5feal & e arfaelier Sis W
T STt ATeT TIehaAT$ gl o o1
FET 67

(a) Synovial fluid / TSI AT gd

(b) Amniotic quid/?lTﬁfaﬁ?

(c) Interstitial fluid /AL gd

(d) Cerebrospinal fluid / ATETSHAS ga
RRB NTPC 22.02.2021 (Shift-I) Stage Ist

19._  connects muscles to bones.
/____ ArE9idT S ggfsai @ SAsarg |
(a) Cartilage / 39TTEY

(b) Tendon / &hUSIT

(c) Areoler/ 33Tk

(d) Ligaments / E’I’{I_,Hﬂ?f
RRB Group-D 24-10-2018 (Shift-IlI)
RRB Group-D 03-10-2018 (Shift-I)

/ Collarbone (clavicle)

—

Shoulder blade (scapula)

s
4”4 J
~—
& ‘
A ‘
[jas "~ Forearm bones

(radius and ulna)

20. Bone cells are embedded in a hard
matrix that is composed of- / 31T&T

HIfRAFTT Teh FoR AfeFg 7 siafafga
(a) Caand F

(c) P and Na

(b) Ca and Na

(d)Caand P

21. The.............. make soft the surface of
the bone at the joint. / ........... SIS 9T g38r

T HeTE B HAIHA T | /
(a) Cartilage / 39TFEAT

(b) Areolar / TRB3TER

(c) Tendon / &hUsIT

(d) Ligament / 3TTEI-g¢T
RRB Group-D 26-09-2018 (Shift-IlI)

22, e, muscles are also called skeletal

muscles. /............ AT T ThepTel T
AT 7 gl ST & |

(a) Involuntary / ki

(b) Linear / 3@

(c) Cardiac / &¢I oty

(d) Voluntary / Eafas

» ' e
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RRB Group-D 07-12-2018 (Shift-I)

23. What is the smallest muscle of human

body? / ATId R T A BICT AT
i T E?

(a) Muscle / ATEafRAT

(b) Stapedius /¢S TH

(c) Tibialis/ETST3TTel

(d) Heart/ gcI
RRB JE 02.06.2019 (Shift-1)

24. The muscles help the heart to pump
blood to all parts of the body, which
requires rhythmic contraction and

reIaxation./HWﬁfﬂﬂTéE‘Jaﬁ AR &
e feeat 7 & d 99 et H Heg il
¢, forass fow rgeey At 3R fasme
T IRITHAT gl & |

(a) Tricep / BT

(b) Bicep / EI'IT%'F\‘?I'CT

(c) Cardiac / g

(d) Muscle / ATGRTAAT
RRB Group-D 27-11-2018 (Shift-lII)

25. Striped muscles fibres are /
URIGR AT i B gl

(a) One nucleus / Teh hoge

(b) Two nuclei / & shogeh

(c) Many nuclei / 37eTeh dhogeh

(d) No nuclei /Eﬁ'é'aw?aﬂ?c‘rl%)r

RRB Group-D 05-12-2018 (Shift-ll1)

({YOTRN " of k
T “} ‘A}“.»““ |
b WA Y
FLMARA L vy ‘N} € “

- .

fascicle

26. Which of the following hormones
makes the heart beat faster in order to
supply more oxygen to our muscles?/

faFafaf@a & @ sle a1 grAfe gAY
ATEQTRIAT T 31TereR 3ifereiatet hr Tfc
e F TIT geT FI eTsehat T AT FT ST
g?

(a) Insulin /éﬂﬁ?{

(b) Animal hormone / tr‘\gsm’f?r

(c) Thyroxine / LTSI &

(d) Adrenaline / TSATTST

RRB Group-D 02-11-2018 (Shift-ll1)

27. What are the name of the three bones
in the middle ear? / TEY el bl dileT

gsfat AT

(a) Femur,hammer,tibia / PR, X,
fefoar

(b) Hammer, anvil, stirrup/%?:R', TATad,
FERT

(c) Humerus, clavicle, stirrup/ETI‘\?:lW,
Folfdehdl, TRNT

(d) Radius, ulna, hammer RT3,

pea

RRB JE 27.05.2019 (Shift-Il)

sarcomere
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31. Where is the longest bone found in
the human body?

FTeTe AR & Ty el gy el oS el
e?

a)Arm/3-TI?ff

b) Upper arm / 39 1§

c) Foot/gw_c"

d) Thigh / STer

Auditory tube
28. The part of the muscle which shortens THIGH (FEMUR)
to create contraction is the:/ Frgaeft &1 —_
g 19T 1Y fApgeT YeT it o forw srer _— '
glaTE dE &:
(a) MYOSin/ ‘g':i LEG (TIBIA AND FIBULA)—|
(c) Epimysium / TTafATATe f
(b) Fasciculli /TTETF LT FOOT (TARSUS,
METATARSALS,
(d) Actin/m AND PHALANGES)

RRB JE 24.05.2019 (Shift-1)
LOWER LIMB

29. What are myosin and actin?/ AT &I
R ufFea Far g

32. How many bones does ankle has?

(a) Muscular protein/ AT WIciT Rt # Reaeh asfaterdr ¥ 2
(b) Muscular carbohydrate / AL a)8

—— s

(c) Muscular fat/ ATEILT aaT ;)) (;

(d) Muscular enzymes / ATHILRT TASH

RRB JE 31.05.2019 (Shift-11I) TALUS NAVICULAR

30. Total number of bones in each limb of
a man is

HAST o Ycdeh 3791 H g3l T ol \ CUNEIFORMS
e A AN\NNN A,

a) 14 a

) 3 SN\

o) 24 ANKLE BONES

d) 30

33. Sternum is connected to ribs by
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T fondeh GaRT aafordl & ST 8T g '""e:::cmar
a) Bony matter/dliT #eX . Cochlear  canals
b) Areolar tissue/ WU Fcleh % Py i
c) Hyaline cartilage/ mﬁm ' ¥ E.é%'&, ; ',’g;,'{““d“'v nerve
d) White fibrous cartilage/ The A\ e 7\ 7
WG 3UTfeY

Eustachean
tube

Middle
ear
Ear drum

36. Which is the hardest substance in the
human body?

BODY OF STERNUM

- TRUE RIB | SiisiialL |
oo A/ XIPHOID PROCESS Outer ear
- ‘ %f"

34. The cervical vertebrae in human is HToTa AR A “E" 8 anrefraﬁsrw%?
AT # NAT HATah & a) Fingernail / ThaaToT
a) Same as in whale/ Sgol o THTT b) Skull bones / WYY T g
b) More than that in rabbit/ 393 8 ¢) Knee cap /%ﬁﬁm
SITET TN H d) Tooth enamel / &id ATHAAT
c) Double than that of horse/ 813 T
. Crown — _
mﬁalah_‘” Dentin
S S Pulp Cavit
d) Less than in giraffe/ TORTH & e v B
Root Cana
35. In which part of the human body
would you find the smallest bone? Root — BN Bome
AT IRR & fohd 3197 H 319! Te Fomet
oI ggar fFeei? piokiinly
TOOTH ANATOMY
a) Knees/'rzl_,E?T
b) Nose / a1Teh 37. What will happen if ligament are torn?
c) Ears / STl 3R fO9TeE %e ST at &7 g1aTT?
d) Fingers / 3aTforam a) Bones will move freely at joint and
no pain/ TSI 9X 31331 Fad v &9
A gl AR g wTet grom
b) Bone will become unfixed/ g3sT
ot ST AT
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c) Bone will become fixed/ E‘s\'??ff»"f
STEafY fEeR

d) Bone less movable at joint and

pain/ S 3R &¢ H &83T A
feorcr g

38. In human body, which one of the
following is anatomically correct

AT RR H, AT iad & O Hi ar
ANRF FT AT T
a) Collar bones -3 pairs/ﬁ?ﬂ
gsf3ar- 3508
b) Floating ribs — 2 pairs/ aXaT
gaferr -2 3
c) Salivary glands — 1 pairs/ ol
I AT - 1303
d) Cranial nerves — 10 pairs/ sh4Tel
dfer- 103113

Intra-articular
ligament and
two joint
cavities

Jugular notch

Fibrocartilage
articular surface

Manubrium

Angle
Anterior view
Body

Xiphoid
process

Acromion

Coracoid
process

Glenoid
cavity

Scapula Neck

[Suprascapular
notch

Subscapular

| } Single joint cavitie

Clavicle

True
ribs (1-7)

Costal

cartilages Costochondral

junctions

False ribs
(8-12)

Floating
Interchondral Interchondral ribs (11-12)
ligaments joint cavities
(syndesmoses) (Synovial)

39. What is the name of joint between
ribs and sternum?

gafel 3R 30T & I & NS A ATH
FATR?
a) Cartilaginous joint/ SIf&aTiaag
g
b) Synovial joint/ Y S5
c) Fibrousjoint/i’QmT\_rﬂ_s'

d) Angular joint/ IO S8

40. Which of the following are connected
by the ligament?

fAFfafad & @ s foemde garT 53
gUE?
a) Muscle to bone / ATEIRN A g5ar
b) Bone to bone / &SI € g33T

c) Skin to muscle / caar & uefr
d) Nerve to muscle / dT¥ar & uefr

muscle
~———— tendon
«~——— bone

ligament

Nl

bone

Musde Erthesis
Epiphyseal
bone

Synovial

cavity
— Articular

Bursa cartilage

Joint capsule

and synovidl lining Ligament

Tendon
Enthesis

. W

41. What the bones around the chest
called?

T & TS T FSR Y T FEd
g7

a) Frontal/m

b) Femur/ﬁlﬂﬂg

¢) Ribs/ggferar
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d) Ankle /T@
Fhe rib cage

thoraci
vertebr

true _|
ribs

false_|
ribs

cartilac
floating ribs -

42. Which one of the following is not an
axial bone?

fArafaf@a A & wia-d v el ey
el &7

a) Skull / @rasy

b) Spinal cord / {Ig ST ggar

c) Scapula / EhTgell

d) Ribs / qaferal
RRB NTPC 03.04.2016 (Shift-I1l) Stage I°t

43, The make soft the surface
of the bone at the joint.

SIS ESST T Idg A
FATAT S|

a) Cartilage / 39TT&Y
b) Areolar/ TR

c) Tendon /&hUsIT
d) Ligament / folRmae

synovial fluid

44. Where are involuntary muscles
located in a human body?

AT R H 3o ATaufay sgr
era g g?

a) Limb /3731

b) Brain / HEISH

c) Heart/@cd

d) Tongue /SN&T
RRB NTPC 31.03.2016 (Shift-Ill) Stage 1°

has namow. lapered rod-shaped cals. has stranad, tubular, branchad,
Phas nonstriated, uninuciealed fibers. uninucieated fders.

* oocurs in wals of internal organs * occurs in walls of heart
and blood vessels. * & involuntary

* Is lnvoluntary,

45. The knee cap is called as:
#rékcrﬁa»—errm%:

a) Fibula /CFIBE_I_,ET

b) Patella /9ceT

¢) Malus /Ao

d) Scapula/ ﬁ?gﬂT

* has sivaled, hubuk
multinucieated e

* Is woluntary.
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Patella Femur
.
Lateral Medial
collateral Y collateral
ligament ligament
;‘V
i ——as
Lateral | / Medial
meniscus \ meniscus
\
X
Fibula ‘\ Tibia

46. Voluntary muscles are contained in
the
ﬁmﬂmﬁﬂm—ﬁﬁ%ﬁ
g

a) Liver /?JTiFr

b) Hand /8T

c) Heart/@cd

d) Lung /%3

47. muscles are also called
skeletal muscles.

ORIt T sherter UMY oY FgT
ST gl
a) Involuntary / 3oifcad
b) Linear /Y @%
c) Cardiac/EFl'%QEF
d) Voluntary / FdfTas

48. What is the smallest muscle of human
body?

HATAT AR T G BIET ATFARA AT 82
a) Muscle / ATEURAY
b) Stapedius / Tcufsad
c) Tibialis / feTatfora
d) Heart/@cd

PM ,, STAPEDIUS
<mw MUSCLE

49, is a connective tissue with a
minimal matrix.

T gedHA ARFE arell Ueh
TS S ¥
a) Blood /{&d
b) Muscle / #TEIRR
c) Bone /@33l

d) Plasma / CellaHT

50. Sarcolemma is the membrane that
covers:

TPIIFAT I8 Srecll § S el &
(a) Spinal cord / #A¥EUS

(b) Nerve fibers / dT3hT BIEaR

(c) Muscle fibers / ATEIRAT BrSeR
(b) Visceral fibers /3-11?[%?4?3{

10
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53. What the bones around the chest

Mitochondria

called?

gﬁﬁ & U B gigdl B T Hgd
(a) Frontal / Thed

(b) Femur / IR

(c) Ribs / '

(d) Ankle / @@

BODY OF STERNUM

Sarcoplasmic Reticulum —&4

Ve N TRUERIB

~ o ;
51. What is the smallest bone in the A\ e /LN AIBHOID FROCESS
human body? \\ v

TR B 7 B g B A & N O\
A e sl } * THORACIC CAGE

(b) Trapezium / ?:aﬁfq—q The rib cagé g
(c) Stapes or Stirrup / ¥ I1 {4 E,Tr){:g::
(d) Femur /

Temporal muscle ~ Temporal bone

Helix Semicircular canals

Malleus

\ Cochle true ]
Scapha ko ribs
External acoustic meatus
Tringular fossa (Ear can:
Antihelix !
Concha '
\ false_|
.
ribs

cartilage

3
o
g g
RS 2
\ - 2]
7/
fii Cartilage Tympanic membrane Tympanic \
tFe (Eardrum) cavity
Auricular lobule SN

(Eariobe)  ~__ floating ribs’
. 54. Which one of the following is not an
Outer Ear Middle Ear  Inne .

axial bone?

frafaRad & 3 -1 te s oify
52. Which is the hardest substance in the Tl %?
human body? (a) Skull / ST
AT IRR T I8 HoR Uard S A1 g7 (b)Spinalcord/ﬁ_Gfﬁggr
(a) Fingernail / R (c) Scapula / IHTYAT
(b) Skull bones / WIS P &g (b) Ribs / TN
(c) Knee cap / ‘ﬂ?e[ Cikapil
(d) Tooth enamel / GId GIEEIE]]

11
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Cervical
Vertebrae

& y
*" L|ARYNGEAL °

SKELETON

VERTEBRAL—22
COLUMN 2

u 4

\XIAL SKELETON

Thoracic
Vertebrae

SHOULDER ANATOMY
(FRONT VIEW)

Supraspinatus Clavicle

aaaaaaaaaaaaa

Rotator

cuff Sacrum sa

infaspinaes - < 56. Bone cells are embedded in a hard
: p matrix that in compounded of-

A I & SR PIRIPIS 1 T BER AR 7
S o T 21 e

(@) Caand F

(b) Ca and Na

(c) P and Na

(d) Caand P

The bone cells are known as osteocytes

 anirior : which are embedded in a hard matrix
that is composed of Calcium (Ca) and

phosphorus (P) compounds.

Calcium (Ca): It provides strength to

55. How many bones are there in human bones and teeth with vitamins. It also

spinal column? plays an important role in blood

T4 B3ce o foha- g‘%‘cﬁ' ardl 27 formation, muscle contraction, clotting
a) 33 of blood, etc. Milk, eggs, fish, etc. are
b) 32 the main sources of calcium.
) 31 Phosphorous (P): It provides strength to
d) 30 bones and teeth, in coordination with

calcium. Milk, cheese, green leafy
vegetables, etc. are the main sources of
Phosphorus.

Sodium (Na): It is normally found in the
external fluid of a cell. It helps in the
functioning of contraction of muscles, in
the transmission of nerve impulses in
nerve fiber, etc. Normal salt, meat, eggs,
etc. are the main sources of sodium.
Fluorine (F): It is the most
electronegative element. Fluorine

12
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protects us from dental decay. Food,
together with drinking water, is the main
source of fluorine for human beings.
Fluorine is essential for the maintenance
of solidity of our bones.

Y PIRHI3M P SR &
¥ T ST I § Sl U HoR Hfcad o
TSSE B © il Hfe’ad (1Y) 3R
BREGRY () D! S §1 gt g |
&R (Ca) : T8 faeT®q & A1y gfgal
3R gl Y Holgel USH BT g | T8
%mﬁﬂﬁn@a&ﬁmﬁﬁ

HIdT
gé{g 38, TBl! 3Nf hieRad & A
BB RY (Ul): T8 Hickrod & Iy
-9 ¥ gl 3R gidl &I dldhd U
A1 8| g, TR, B TieR Afesr
3T PR RY & T AId & |
HIfSTH (Na) : I8 NI HIRDT &
9T %4 T U S ¢ | I8 AU &
Jpa & &1 |, dFeT dgei | dEer
3TN & TTRUT § Hag Hdl g, 3fe |
U 0%, 99, 3fs ofe ifsaq &
T Ad gl
IR (F): I8 9ad 3 faggd
FBUNHS dd & | TR gH &ial &t Ie
J TG 1 HioH, T & Ut & I1Y,
A & foIE weRH &1 = did 7
AR BTl &1 Tolgl &l S TG &
fore TR I 3|

57. The make soft the
surface of the bone at the joint.

SIS WR gS! ! Idg I RA
RG]
(a) Cartilage / IUTRY
(b) Areolar / TR3NTR
(c) Tendon / PUSI]
(d) Ligament / '

58. Vibrations inside the car is arnphﬁed
by three bones, namly the n
the middle ear.
DR P 3R HU o gigdl, 3riiq 7
%ﬁq | ERECICEIERIISI

I

(a) Hammer, Cochlea and Stirrup /

gUleT, Plaaiar 3R fRxu

(b) Auditory Bone, Anvil and Stirrup /
squ g8, TS iR fexu

(c) Hammer, Anvil and Stirrup / ‘s’ﬁﬁ@_ﬂ,

fgTs 3R =y

(d) Hammer, Anvil and Pinna / E:?ils l,

TS 3T foren

Mi ddle ear

Tempor: albo ne | Malleus In ncus S!apes Inner ear
(hammer) (anvil) (stirrup) I . 1
\, L\ | Semicircular  Cochlea
canals 7

_Vestibular nerve
5
. Cochlear nerve

—— Round window

_ Eustachian
-~ tube

~/
Internal

carotid \ 1YY
artery

Tym;;amc \ W\
membrane Styloid bone
(ear drum) Opening to
nasopharynx
59. Due to the presence of in

our ear, which is a type of connective
tissue, the ears can be folded.

AR BHEH o Jufufad &
PRI, Sl Th UHR Bl T4l Fdb g,
B B HIST o GhaT g |

(a) Tendon / hUSXT
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(b) Bone / Eg[
(c) Cartilage / IUIRY
(d) Ligament / formHe

60. In humans, the tissue that connects
the muscles to bones is called-

T ¥ giguiRel &1 gigdl O Sie
I $HdP HEAN &-

(a) Tendon / Rl

(b) Fiber / hIgdX

(c) Axon / 3f&fdq

(d) Femur /

Skeletal Muscle

TENDON
Binds Muscle
to Bone

N

—

Bone

LIGAMENT
Binds Bone
to Bone

61. A tendon made of:

UH ST T g3 &:

(a) Collagen fiber only / Had PictolT
RIEEN

(b) Elastic connective tissue fibers /
AR GOl SHdd BIgar

(c) Inelastic connective tissue fibers /
AR GOl SHdd BIgar

(d) Elastic & inelastic connective tissue

fibers / AMEIGR 3R AP Tl SHdd
WIZaR

tendon

tertiary fibre o
bundle [ ©

secondary fibre
bundle (fascicle)
primary collagen
fibre bundle (subfascicle)

collagen fibre P

collag?n fibril | ; f
focrmativa e (coacties i)
62. The _ has abundant white
fibres.
H TR 9T H b 3 B B

(a) Ligaments / W‘EFT

(b) Tendons / k|

(c) Cartilages / IUTRY

(d) Bones / B‘%‘Ch

63. Which of the following is moving
skull bone?
gm@a ¥ P T S 1 5
”

a) Femur / a?_ﬂT

b) Mandible / SIdSI

c) Atlas / Ucd

d) Tibia/ fefaaf

e

Frontal _ /

o~
Sphenoid . /
Ethmoid ~_ \

Nasal P

Lacrimal =

Maxilla ~_
Occipital

External acoustic meat:

,‘"( Temporal Mastoid process
process  Zygomatic

process

Mandible _"

—

Styloid process

e Zygomatic arch

64. The human skull is made up of
number of bones.

T ETS_ gRdi el gend
9 et B

a) 26

14
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b) 14
c) 22
d) 15

Nasal (2)

Lacrimal (2)

Mandible (1)

14 Facial Bones
Parietal (2)

Vomer (1)

Frontal (1)

Sphenoid
(1)

Temporal

Occipital
(1)

8 Cranial Bones

65. Which part of human skeleton forms
the helmet for the protection of human
brain?

HId ARRTSH b1 GREMT & [T A
ST BT DI T N gAHC AT § ?
a) Temporal bone/ 3T E?j

b) Hyoid/ €IS

) Mandible/ﬂ@aﬁ

d) Cranium/

The Cranium

Parietal st
Frontal skull

Temporal skull

Occipital s

Jaw

66. Which of the following bone is called
collar bone?

frafead # 3§ food gt i BieR a1
gl Al &7
a) Acetabulum/ Qﬁl?l@?ﬂ:{
b) Pelvic/Ufcad
c) Scapula/ ¥PTYIT
d) Clavicle/&Tdlhel
/ E:CIT;/III:Ifbone)

\
\ Scapula

\ (Shoulder Blade)

Sternum (Ribcage)

67. The total number of bones found in
right upper limb is
qIfe U 3T H Urg W arelt gl
B P G ?

a) 25

b) 26

c) 30

d) 60
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BONES OF UPPER
LIMB

+ Bones of shoulder girdle:
Include. Clavicle & scapula

« Bone of the arm: Humerus.

« Bones of forearm: Radius
(lateral)& ulna (Medial).

+ Bones of the hand.
- Carpal bones (8)
- Metacarpal Bones (3)
- Phalanges (14)

Clavicle
Scapula

+% _+Carpals
44 _rMetatcarpals
Phalanges
68. Thumb (great toe) of foot is called

R P Y (@S W P 3Y) Bl

Hel ordl

a) Pollex/ TIciad
b) Hallux/ 8lda
c) Index/S S

d) Coracoid/

(v

Bunion (Hallux Valgus)

Normal Anatomy Bunion

(Hallux)

Metatarso-
phalangeal
Joint

69. The total number of bones in lower
extremity is

ﬁaﬁ@ﬁ?ﬁ‘e’%ﬁraﬁﬁm

a) 62

b) 63

c) 61

d) 60

Explanation: The total number of bones
in the lower extremity is 62.

Pelvic girdle 2, Thighs 2, knee cap 2,
lower legs 4, ankles 14, soles 10, toes 28.

Coxal bone: —j

II|um
T
CL Acetabulum
Pubis ﬁv @{/ ::2: of femur
Ischium
} Greater trochanter
Lesser trochanter

Femur

i 4G Patell
e
—— Head of fibula
Tibia

Fibula

:I» 7 Tarsals

| :}» 5 Metatarsals

70. The study of joints is known as

el & 3T &I w0 H
SIEISIGIE

a) Archaeology/ SI3farsh

b) Osteology/ i

¢) Syndesmology/

v

16
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d) Arthrology/ STt

71. Joint of femur with pelvic girdle is

HR R IfaH TeadISS
gI g

a) Ball and socket/ aid] SﬁT {-I\Ilabd

b) Pivot,

¢) Saddle/ Tsd

d) Hinge/%ﬁ[

“Ball-and-Socket Joints”

. Collar Bone

Pelvr\ \ ) / Socket
Socket ‘ . (‘ Ba
\ \ Sm
N Car
v || Blad
Femur\ \} <—Hu.

Smooth Cartilage
The Hip Joint The Shoulder Joint

72. Hinge joint is present between

nd
pede. ok wda
TG Bl ®
a) Femur and ulna/ IR 3R I

b) Humerus and ulna/ @gHIT 3R I
c) Femur and pectoral girdle/ PR 3R

d) Femur and pelvic girdle/ HIR 3R
Ufcep TS

Humerus
‘ I \§ . F \“
/ ‘\. ¥ ‘!
1) RS - 7
a Trochlea I
(v ¥ Q
- F\ // %\ Ulna R ———
Tr-:x:hlear—,L \)\\\ i F B [
notch \\\ \\ % 3
R N, Y

N

(b) Hinge joint between trochlea of humerus
and trochlear notch of ulna at the elbow

73. Example of pivot joint is

BIEC ARG RS g
a) Hip joints/ $eg & SIS
b) Ankle joints/ TG & SIS

¢) Radius ulnar joints/ m RNEIN
S

d) Metacarpophalangeal joints/
EIS]

Ulna

/ Radilé

Pivot joint

Anterior view of the human elbow

humerus

trochka —48 ——M—— trochlear notch
L

annular ligament
~ Y \

ulna

radius

P Movable Joints of Human Body

Balland [ (
Socket joint

| ¥ Pivot joint

(Hip joint)

Hinge Joint

Condyloid joint (between \ (Elbow)
radius and carpal bones of wrist
|

>

Plane Joint \ : J n—
(between tarsal bones) R Saddls.Jotnt (refrween
M\@ Trapezium carpal bone &

L

v 4
74. The longest bone in the body is the
IRR B! I el 8 &
(a) Spine / 3¢

1st metacarpal bone)
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(b) Humerus / 8HY
(c) Scapula / ¥ TYcT

(d) Femur /

Inner ear

Semicircular
canals

Cochlear

tube

Stapes
Incus .
Malleus Middje
ear
Ear drum

Ear canal
l |

T
Outer ear

75. Which is the hardest substance in the

human body?

Vestibular nerve
/ Facial nerve
¢ /Audnory nerve

Eustachean

T TR § G HER U &I 91 82

(a) Fingernail /Wﬁ

(b) Skull bones / &IUS! Bt gfgal
(c) Knee cap /ﬂ?ﬁﬁa'lﬂ

(d) Tooth enamel /E{Hﬂ'ltl?ﬂ:ﬁ
Ans. (d)

Crown —

Root — \

\ T -

Enamel
Dentin
Pulp Cavity
Gums (Gin

Root Cana

+==— Bone
&

Cement

Nerve and

TOOTH ANATOMY

76. Which is the strongest bone of the
human body?

gﬂﬁﬁﬁﬂ@ws@ﬁqxﬂ
?

(a) AnkIe/EEef

(b) Shin bone/ﬁﬂ@@

(c) Spinal cord /

(d) Thigh bone /Wﬁ@

77. Spine is also called

Se 3! Vft T ST 2 |

(a) Femur / TFHR
(b) Ribcage / Raddl

(c) Spinal cord /ﬁ.TQ"US’

(d) Ribs / Tl

78. The force generated by the action of
muscles, is called-

O &t fobam & I 9 HEardl o-
(a) Chemical force /WW

(b) Physical force / ARG §d

(c) Muscular force /ﬁ?ﬁaﬁr

(d) Mechanical force /WW

79. Which mineral is essential for bones?

Bl & forg o 1 @t Smaxa® g2
(a) Zinc / TSI

(b) Iron / 3TIRA

(c) Squhate/?IT‘*arW‘.r

(d) Calcium / o[

80. The muscles help the heart to pump
blood to all parts of the body, which
requires rhythmic contraction and
relaxation.

AR g6d &1 IRR & I 1T |
3G U9 & B AGE Hdl §, forad forg
TG IHa 3R Ay ST srazadhdr
gl &1

(a) Tricep /288w

(b) Bicep/arsay

(c) Cardiac /e

(d) Solace/de=

81. The part of the muscle which shortens
to create contraction is the-

U3t BT 98 YN Sl o I B &
R slergian s, o-

(a) Myosin/mmife

(b) Fasciculli/WITﬁﬂwT»?r

(c) Epimysium / TTafATATe
(d) Actin/ Qf@:{

82. Where are biceps muscles located in
the human body?
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A9 IRR H S39 AUt Hgl
fRa g g

(a) Arm/ 3T

(b) Stomach / SHIRIY

(c) Hip /fea

(d) Thigh / STT9

83. Which of the following is not a bone in
the human body?

?ﬁ%ﬁﬁﬁﬁwﬁﬁs@ﬁ
?

(a) Stirrup / X9

(b) Hammer/gaﬁg{

(c) Anvil/ﬁ@é

(d) Axe / S
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